Slow Release Nitrogen (SRN) Calculation

To calculate the percentage of SRN, divide the percentage of Slow Releasing Nitrogen available by the
Total Nitrogen (found on the Guaranteed Analysis of the bag) and multiply by 100.

In this example 7/14 x 100 = 50%

REMINDER - NO FERTILIZER MAY BE APPLIED FROM JUNE 15T - SEPTEMBER 30TH

GUARANTEED ANALYSIS

TOTAL NITROGEN (N)........cooorvev........ . 14.00 %

b R T = L a s e ()
FERT“.IZEH SOLUBLE POTASH (K;0).........c.cc.ooe........ 20.00 %
o PR e ) SULFUR (5) Total ..ocooooooeen 1970 %0
10.50% Free sulfur (5)

1 4_0_26 9.20% Combined sulfur (5)

IRON [Fe) Total ..o 096 %0
0.19% Water Soluble Iron (Fe)
MANGANESE (Mn) Total..........................0.48 %

0.1% Water Soluble Manganese (Mn)
Nitrogen N DERIVED FROM: Polymer Coated Sulfur Coated

Urea, Sulfate of Potash, lron Oxide, Manganese

Phosphorus Oxide
Potash KO CHLORINE () Max.............2.00%

<*1.00% Slowly Available Urea Nitrogen from

Polymer Coated Sulfur Coated Urea.




